[image: image1.png]4.48 The reinforced concrete beam shown is subjected to a positive
bending moment of 175 kN + m. Knowing that the modulus of elasticity is
25 GPa for the concrete and 200 GPa for the steel, determine (a) the stress in
the steel, (b) the maximum stress in the concrete.
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[image: image4.png]4.103  The vertical portion of the press shown consists of a rectangular
tube of wall thickness 7 = 10 mm. Knowing that the press has been tightened
on wooden planks being glued together until P = 20 kN, determine the stress
at (@) point A, (b) point B.
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[image: image5.png]Rectangular cutout is 60 mm x40 mm.
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